ITEM NO.

PART NUMBER

DESCRIPTION

QrTY.

1

Booster

2

Second Stage

185.92

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS
PROHIBITED

NEXT ASSY USED ON

APPLICATION

SOLIDWORKS Educational Product. For Instructional Use Only.

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL%

ANGULAR: MACH%  BEND %
TWO PLACE DECIMAL
THREE PLACE DECIMAL %

INTERPRET GEOMETRIC
TOLERANCING PER:

MATERIAL . .
Combination

FINISH
Smooth

DO NOT SCALE DRAWING

2

DRAWN

CHECKED

ENG APPR.

MFG APPR.

QA.

COMMENTS:

DATE

TITLE:

Full

Vehicle

SIZE DWG. NO. REV

SCALE: 1:48 WEIGHT:

|

SHEET 1 OF 1

1




o

®

SOLIDWORKS Educational Product. For Instructional Use Only.

2

ITEM NO.

PART NUMBER

DESCRIPTION

QTY.

er_rev_3

Main_venhicle_

canist

N

Carbon Body Tube

w

Avionics Bay

Assembly 2nd Stage

Body Tube

Payload Carbon

Rocket_NoseCone

Stripped Motor

N || N~

92095A214

M5 Button Head Hex Drive

Screw

48

oo

94645A102

M5 High-Strength Steel Nylon-

Insert Locknut

44

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS
PROHIBITED

NEXT ASSY USED ON

APPLICATION

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL%

ANGULAR: MACH%  BEND %
TWO PLACE DECIMAL
THREE PLACE DECIMAL %

INTERPRET GEOMETRIC
TOLERANCING PER:
MATERIAL . .
Combination
FINISH
Smooth

DO NOT SCALE DRAWING

2

NAME
DRAWN
CHECKED
ENG APPR.
MFG APPR.

QA.
COMMENTS:

DATE

TITLE:

Second Stage

SIZE [DWG. NO.
B 2

SCALE: 1:24 WEIGHT:

1

REV

SHEET 1 OF 1




4 3 2 1

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 Booster_canister_rev 1
3

) Booster Carbon 1
Body Tube

3 Stripped Motor 1

4 Separation_System_ 1
Assembly_Rev7

M5 Button Head Hex Drive
5 92095A214 Screw 48

M5 High-Strength Steel Nylon- 48

6 74645A102 Insert Locknut

UNLESS OTHERWISE SPECIFIED: NAME | DATE
DIMENSIONS ARE IN INCHES DRAWN
TOLERANCES: X
FRACTIONAL® CHECKED TITLE:
ANGULAR: MACH#  BEND
TWO PLACE DECIMAL & ENG APPR. B O OS Te r
THREE PLACE DECIMAL + MFG APPR.
INTERPRET GEOMETRIC QA.
PROPRIETARY AND CONFIDENTIAL :
THE INFORMATION CONTAINED IN THIS TOLTE;TNC‘NG = COMMENTS:
MATERIAL
DRAWING IS THE SOLE PROPERTY OF Combination SIZE DWG. NO. REV
<INSERT COMPANY NAME HERE>. ANY
REPRODUCTION IN PART OR AS A WHOLE FINISH
NEXT ASSY USED ON

WITHOUT THE WRITTEN PERMISSION OF

<INSERT COMPANY NAME HERE> IS
PROHIBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:16 WEIGHT: SHEET 1 OF 1

4 3 2 1

SOLIDWORKS Educational Product. For Instructional Use Only.



@617

DETAIL a

SCALE 1:5

@ 6.00

MATERIALS: COMPOSITE (CARBON FIBER)
NOTES: YR
¢ SANDING REQUIRED FOR SMOOTH FINISH Llgo smoon
e 6-7 LAYERS MINIMUM FOR DURABILITY o
BOOSTER CARBON
¢ Al holes are M5 Screw Clearance A RODY TUBE
16 15 14 13 12 11 10 9 8 7 73 5 4 — - —

SOLIDWORKS Educational Product. For Instructional Use Only.



16 15 14 13 12 11 10 9 8
[
[g]o.02]
-
Lol
ol
LJ
MATERIALS: COMPOSITE (CARBON FIBER)
NOTES:
¢ SAND FOR SMOOQOTH FINISH
e 6-7 LAYERS FOR DURABILITY
¢ AllHoles Are M5 Screw Clearance
16 15 14 13 12 11 10 9 8

SOLIDWORKS Educational Product. For Instructional Use Only.

$6.170 $6.000

SMOOTH, SANDING REQURED |

"2ND STAGE BODY
TUBE
4 - 2 -



P6.170

)

40.000

Goo]
MATERIALS: COMPOSITE (CARBON FIBER)
NOTES:
¢ SAND FOR SMOQOTH FINISH
e 6-7 LAYERS FOR DURABILITY
L oomsmono precesadl Lo
—— " PAYLOAD BODY
TUBE
16 15 14 13 12 11 10 9 8 7 3 5 v . e i ;

SOLIDWORKS Educational Product. For Instructional Use Only.



D

6X @ 35 THRU ALL
L 1 ® .59 7 .20

R2.55

6X @ .18 THRU ALL
L 1@ 317 .12

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
Northrop Grumman. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF NEXT ASSY USED ON
Northrop Grumman IS

PROHIBITED. APPLICATION

o]
SOLIDWORKS Educational Product. For Instructional Use Only.

120°

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL +

ANGULAR: MACH+  BEND #
TWO PLACE DECIMAL  *
THREE PLACE DECIMAL *

INTERPRET GEOMETRIC
TOLERANCING PER:

MATERIAL .
Aluminium

FINISH

DO NOT SCALE DRAWING

DRAWN
CHECKED
ENG APPR.
MFG APPR.
Q.A.

COMMENTS:

135
125

395

] 375

45°

6.000 DETAIL A
5.990 ] SCALE2: 1

NAME
kag39
kaq39

o \T

2/26/24
2/27/24 TITLE:

DETAIL B
SCALE2: 1

2nd Stage End

Cap

SIZE DWG. NO.

A /

SCALE: 1:2 WEIGHT:

1

REV

2

SHEET 1 OF 1

A



1
4.000
D 3995
3.875
P3869
2.760
2.750
325 |
315 3.335
3.325
UNLESS OTHERWISE SPECIFIED: NAME | DATE
DIMENSIONS ARE IN INCHES DRAWN kaq3? | 4/26/24 A
TOLERANCES: CHECKED kag39 | 4/26/24 TITLE:

FRACTIONAL +

AGUAS HACH: 85102 010 v Aft End Centering

THREE PLACE DECIMAL * MFG APPR. . .
Ring with Sep Brace
PROPRIETARY AND CONFIDENTIAL :
THE INFORMATION CONTAINED IN THIS TTTEERQEF - COMMENTS:
M
DRAWING IS THE SOLE PROPERTY OF Aluminium SIZE DWG. NO. REV
Northrop Grumman. ANY
REPRODUCTION IN PART OR AS A WHOLE FINISH
WITHOUT THE WRITTEN PERMISSION OF NEXT ASSY USED ON
Northrop Grumman IS
PROHIBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:2 WEIGHT: SHEET 1 OF 2

SOLIDWORKS Educational Product. For Instructional Use Only.



2.7797 2.4943

23397 —==—2.2192—

——22192— 1.5890 =
r=—1.7063 —=.7507
.7880 =—

6X ¢ 3150 THRU ALL

2.5625
2.4252 t Z ? 2.2683
1.8950
1.7843
1.2813 i T 1.2813
| | 4840 5302
6875 * .
K 2.0636
2.7511
6X @ .2165 THRU ALL
' @ .22 X 90°, NEAR SIDE L
6X @ .2165 THRU ALL/ R.0625 THRU
27797 7945
1.9853 —=
UNLESS OTHERWISE SPECIFIED: NAME | DATE
DIMENSIONS ARE IN INCHES DRAWN
lﬁ’ﬁfgﬁfﬁ; CHECKED TITLE:
TWOPACEDECAL 8 || ENGAPTR.
THREE PLACE DECIMAL + MEG APPR.
INTERPRET GEOMETRIC Q.A.
PROPRIETARY AND CONFIDENTIAL TOLERANCING PER: COMMENTS:

THE INFORMATION CONTAINED IN THIS MATERIAL SlZE DWG No REV

DRAWING IS THE SOLE PROPERTY OF A o .

<INSERT COMPANY NAME HERE>. ANY

RFRODUCTONINPARIORAS AWHOLE | iy woon | Aft End CerBeri Nng Ri Ng with Sep

;\;éﬁ;égwwv NAMERERE S APPLICATION DO NOT SCALE DRAWING SCALE: 1:2  WEIGHT: SHEET 2 OF 2

SOLIDWORKS Educational Product. For Instructional Use Only.

1



24
B3 872 THRU 1 B
R2.555 ;
2.545 -

6X @ .217 THRU ALL
N @ .22 X 90°, NEAR SIDE

R2.394
2.384

6X @ 217 THRU ALL

UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN kag39 | 4/26/24 A
TOLERANCES: .
FRACTIONALE CHECKED kag39 | 4/27/24 TITLE:
ANGULAR: MACH+  BEND # ° M
A " e Centering Ring
THREE PLACE DECIMAL * MFG APPR.
INTERPRET GEOMETRIC Q.A.
PROPRIETARY AND CONFIDENTIAL :

THE INFORMATION CONTAINED IN THIS TOA}TEERR}I\;LC e COMMENTS:
M

DRAWING IS THE SOLE PROPERTY OF Aluminium SIZE DWG. NO. REV

Northrop Grumman. ANY

REPRODUCTION IN PART OR AS A WHOLE FINISH A 9 ]

WITHOUT THE WRITTEN PERMISSION OF NEXT ASSY USED ON

Northrop Grumman IS

PROHIBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:2 WEIGHT: SHEET 1 OF 1

N ‘|

SOLIDWORKS Educational Product. For Instructional Use Only.



33.37°

DETAIL A
SCALE1:2

1%

.740

__f.738 i\

D152 10

41.1904

\

T T T et

S

c J ~ 3.80]1 ?X1799
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL+
ANGULAR: MACH#+  BEND *
TWO PLACE DECIMAL  #
THREE PLACE DECIMAL *
INTERPRET GEOMETRIC
PROPRIETARY AND CONFIDENTIAL TOLERANCING PER:
THE INFORMATION CONTAINED IN THIS MATERIAL
DRAWING IS THE SOLE PROPERTY OF Carbon Fiber
Northrop Grumman. ANY
REPRODUCTION IN PART OR AS A WHOLE FINISH
WITHOUT THE WRITTEN PERMISSION OF NEXT ASSY USED ON High Temp. Epoxy
Northrop Grumman IS
APPLICATION DO NOT SCALE DRAWING

PROHIBITED.

N

SOLIDWORKS Educational Product. For Instructional Use Only.

NAME
DRAWN kag39
CHECKED kag39
ENG APPR.
MFG APPR.
Q.A.
COMMENTS:

DATE
4/26/24

4/27/24 TITLE:

SIZE DWG. NO.

A

Fin

10

SCALE: 1:5 WEIGHT:

1

DETAIL C
CALET:2

REV

2

SHEET 1 OF 1

B



8 / 6 S 4 3 2 1
W $
5 - @©%@@\©@©©,é©\

1.50

e 9x 1203 10x @ 0.13 THRU ALL
28 ‘ : : N/ @ 0.23 X 78.26°, Near Side
B 0.269
E oo 0.263
3
5= |®
QS
¥} .
™
g8l % ?
MmN ~ !
ool = @_
D 88 7 ,
wl 33
= @ 11x @ 0.177 THRU ALL
Q| N [ N @ 0.35 X 90°
R @
PN
oo © |
nn| o
[@Xe N —_—
O N
C g |
33| « @
[@Xe N e
Yo g
o0 '
|
B |
| NAME SIGNATURE DATE TITLE: .
CT T Fin Bracket Left
A MFG :
LN - 6061 Aluminum '| '|
8 7 6 5 4 3 2 ]

SOLIDWORKS Educational Product. For Instructional Use Only.



0.269
0.263

/©@©©©?©©©@ N

0.741
0.735

7 6 5 4
(@)
0
0.488 , ‘
0.683
oo 10x © 0.13 THRU ALL
SR N\ @ 0.23 X 78.26°, Near Side
00 00
4;—1‘?00
o
[Tp)
@ ~
| O
| — 8 o
® 3 8 oo
— O
! <~ QS‘ ()]
@ G| Y
NRYe} o
! ~
® o g
~) N
! N
¢ " 8
ol 33
| Ol oo~
é —= =
N
N
| 5| 83
- [@Ye
[YoR g
é 0w
, o0
|
|
T 11x @ 0.1772 THRU ALL
[ ' @ 0.35X90°
: QA
7 6 5 4

SOLIDWORKS Educational Product. For Instructional Use Only.

1.203
X 1797

3.497
3.487

DEBURR AND
BREAK SHARP

DATE
10/15/24

MATERIAL:

Aluminum

WEIGHT:

3

TMLE:

DO NOT SCALE DRAWING

REVISION

Fin Bracket Right

DWG NO.

SCALE:1:5

12

SHEET 1 OF 1

1

A3



12 1 11 I 10 I 9 I 8 I 7 I 13 4 I 3 2 I
|
0.350Q
O
S >
S1-@-| ¢
| o
o UP 90° R 0.03
®
N
~O
~0
wn
2 .
o~
N P | 6x @ 0.2165 THRU ALL
3 . \/_ @ 0.22 X 90°, Near Side
4
o
™)
~
5 .
)
. D
~0 .
(5]
<
<
w
S
8 .
) D
UP 90° R 0.03
i o~
N
SPRN I
~N
. 5]
0.70
e s | bororscusomme | mvson
ToueRances
i
= — ] Long Bracket 1
o _ v
6061 Aluminum ] 3
| e scaen | sueer 101
12 11 I 10 I 9 I 8 I ] 6 4 I 3 2

SOLIDWORKS Educational Product. For Instructional Use Only.




12 | 11 | 10 | 9 | 8 7 6 | 4 | 3 2 | 1
- 0.35
[¥9]
0
3o}
S
o~
N
D |
o
o~ UP 90° R0.03
[ce)
<
~
~O|
3 .
= @-\ 6x @ 0.2165 THRU ALL
/@ 0.22 X 90°, Near Side
o~
< |
00
[¥s]
~
O
S
) ~O
~O
~O|
L m. —
w0 ~ R
Iy
N
~N
|
UP 90° R0.03
i o
N
SPRN
~N
. o
el ponorscaioras | sevson
R
0.70 T —=Te=T=1
e — ] Long Bracket 2
o _ Az
6061 Aluminum ] 4
weGHT SCALE:TT | SHEET 1 OF |
12 | 11 | 10 | 9 | 8 7 6 | 4 | 3 2

SOLIDWORKS Educational Product. For Instructional Use Only.




12 | 11 | 10 | 9 | 8 | 7 I 6 | 5 | 4 | 3 2 |
|
1.2340
0.2660
o
£
2l m Pantl I
o <
UV U =
- . .
2 UP 90° R0.03
S
>
: S
o~
- 10x @ 0.1772 THRU ALL
S \/ ® 0.18 X 90°, Near Side
<
o
5 S
@)
0
~ <
wn
[50}
0
e}
)
3 A
| w| © N -
I
Q
hel
4x @ 0.2165 THRU ALL
\/ @ 0.22 X 90°, Near Side
UP 90° R0.03
' ' o~
N
® B ;
~N
. . =
1.50
o v [ pororscazomme | rewson
T o Tone Tom]
e — o) Long Bracket 3
- 6061 Aluminum ] 5 A2
| W scaen  suser o
12 | 11 | 10 | 9 | 8 | 7 | 6 | 5 | 4 | 3 2

SOLIDWORKS Educational Product. For Instructional Use Only.




12 ] 11 ] 10 ] 9 ] 8 ] 6 ] 5 4 ] 3 2 ]
4x @ 0.2165 THRU ALL
1.2340 \/_® 0.22 X 90°, Near Side
0.2660
2
o
e @
5 : . I
§ UP 90° R0.03
o~
Iy
N 10x @ 0.1772 THRU ALL
©0 N/ ® 0.18 X 90°, Near Side
-
N
2 A
5 Y
~
Q
~
0w ~O
3
- & A s _
o ¥ ¥
R
~N
UP 90° R0.03
o o
- - =
~
. . O
B s ™ peERE A 50 NOTSCALEDRAWING | sevson
150 IM _ :
= — ] Long Bracket 4
QA - 6061 Aluminum e ] 6 A2
| W scae 151 [ suser o
12 ] 11 ] 10 ] 9 ] 8 ] ] 6 ] 5 4 s - 2

SOLIDWORKS Educational Product. For Instructional Use Only.




@
(o] 0
O]
(o] 0
@_
[o) 0
(O]
0 0
(O]
, , -
|
’ ®
0 0
(O]
o 0
&
(o]
@,
Q o]
) ®| o
- i
e o
° 0
Y /o

16 15 14 13 12

A

11 10

SOLIDWORKS Educational Product. For Instructional Use Only.

8 Z ) 4
ITEM NO. PART NUMBER DESCRIPTION QTY.
] IAft End Centering Ring with Sep Brace ]
Maching
2 Centering Ring 2
3 Fin 3
4 Fin Bracket Left 3
5 Fin Bracket Right 3
6 Long Bracket 1 6
7 Long Bracket 2 6
8 Long Bracket 3 3
9 Long Bracket 4 3
10 94645A101 M4 High-Strength Steel Nylon-Insert Locknut 60
1l 94645A102 M5 High-Strength Steel Nylon-Insert Locknut 36
12 92095A214 M5 Button Head Hex Drive Screw 36
13 191294A193 M4 Black-Oxide Alloy Steel Hex Drive Flat Head Screw 60
14 Seperation System Top Plate REVé 1
15 91292A214 M8 18-8 Stainless Steel Socket Head Screw )
16 94645A210 M8 High-Strength Steel Nylon-Insert Locknut 6
1 12 17 97483A095 1/8 Aluminum Flush-Mount Solid Rivets 30
0f || ©
(o °
0f || @
al ll
H o
0 (@
o
XX .
i o o
o||® (B
ollo Q0
ol ® Q0
ol @ Q0
¥ Pra 'l l1 l’ l‘
T 1 I Y
% YE%
*3
&7 P
5
——0
3 M
K
M K
K
i
K
SCALE1:1.25 e — Main Vehicle Fin
- Canister
Combinafion 17 Al
8 Z 6 S 4 3 2 1



16 15 14 13 12 11 10 9 8 4 D 4 2 1
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 IAft End Centering Ring with Sep Brace 1
Maching
2 ICentering Ring 2
3 Fin 3
4 Fin Bracket Left 3
5 Fin Bracket Right 3
6 Long Bracket 1 6
7 Long Bracket 2 6
8 Long Bracket 3 3
9 Long Bracket 4 3
10 94645A101 M4 High-Strength Steel Nylon-Insert Locknut 60
1 94645A102 M5 High-Strength Steel Nylon-Insert Locknut 36
12 92095A214 M5 Button Head Hex Drive Screw 36
13 191294A193 M4 Black-Oxide Alloy Steel Hex Drive Flat Head Screw 60
14 91292A214 M8 18-8 Stainless Steel Socket Head Screw 6
15 94645A210 M8 High-Strength Steel Nylon-Insert Locknut 6
16 97483A095 1/8 Aluminum Flush-Mount Solid Rivets 30
17 2nd Stage End Cap 1
@&i@ 1
XX] X
//
0 ][0
e o @
0| || © 0|0
9] || © [

offo] offlo
@/"/ o o — 0
0| © 0|0l
o o
0] ]| © 01[|0]
o °
0] © 0J0
o o
| sl al
(<] 0 f
0 ©)
©

13,

SECTION A-A
SCALE1:1.5

" Booster Canister

Comsinaon 18 A

16 15 14 13 12 11 10 9 8 Z 6 5 4 3 2 1

SOLIDWORKS Educational Product. For Instructional Use Only.



2x ©0.38 THRU

4x$0.27 THRU

¢5.83
@ 6.00

UNLESS OTHERWISE SPECIFIED: NAME  DATE
DIMENSIONS ARE IN INCHES DRAWN AP 11/22/24
TOLERANCES: TITLE:
FRACTIONAL# CHECKED g
ANGULAR: MACH:  BEND * N N
TWO PLACE DECIMAL  + ENG APPR. AV | O NI(¢ :S
THREE PLACE DECIMAL + MFG APPR.
r———— an Bulkhead
PROPRIETARY AND CONFIDENTIAL 3
THE INFORMATION CONTAINED IN THIS T?TE;T:LCING = COMMENTS:
M
DRAWING IS THE SOLE PROPERTY OF 6061 T6 SIZE DWG. NO. REV
<INSERT COMPANY NAME HERE>. ANY 'l 9
REPRODUCTION IN PART OR AS A WHOLE FINISH
WITHOUT THE WRITTEN PERMISSION OF NEXT ASSY USED ON
<INSERT COMPANY NAME HERE> IS
PROHIBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:2  WEIGHT: SHEET 1 OF 1

4 3 2 1

SOLIDWORKS Educational Product. For Instructional Use Only.



DETAIL a
SCALE 1:1
FRONT
MATERIAL: CARBON FIBER (COMPOSITE)
NOTES:
* SANDING REQUIRED FOR SMOOTH EDGES. oo N
e 6-7 LAYERS REQUIRED I )
Avionics Coupler
2nd Stage
comroste cassonsass] 20 Al
16 15 14 13 12 11 10 9 8 7z b S 4 3 - i )1Q

SOLIDWORKS Educational Product. For Instructional Use Only.



15.75

SOLIDWORKS Educational Product. For Instructional Use Only.

©0.26

R0\

DETAIL &

SCALE 1:1

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF NEXT ASSY USED ON

<INSERT COMPANY NAME HERE> IS

PROHIBITED. APPLICATION

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL%

ANGULAR: MACH:  BEND %
TWO PLACE DECIMAL  +
THREE PLACE DECIMAL #

INTERPRET GEOMETRIC
TOLERANCING PER:
MATERIAL

FINISH

DO NOT SCALE DRAWING

2

NAME
DRAWN
CHECKED
ENG APPR.
MFG APPR.

QA.
COMMENTS:

DATE

TITLE:

3d Printed
Avionics Sled

SIZE DWG. NO.

SCALE: 1:4 WEIGHT:

1

21

REV

SHEET 1 OF 1



DETAIL a
SCALE 1:1
FRONT
MATERIALS: COMPOSITE (CARBON FIBER)
NOTES:
¢ SANDING REQURED FOR SMOOTH FINISH
e 6-7 LAYERS MINIMUM FOR DURABILITY
BOOSTER
AVIONICS BAY
comroste cassonsass] 22 Al
16 15 14 13 12 11 10 2 8 7 b ) 4 3 - i )18

SOLIDWORKS Educational Product. For Instructional Use Only.



SOLIDWORKS Educational Product. For Instructional Use Only.

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS
PROHIBITED

NEXT ASSY

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 é\r\]/ldogmtlgsggoupler Carbon Coupler 1
SecondStageAftAV
2 Bulkhead 6061 Aft Bulkhead 1
3 Avionics Bulkhead 6061 Bulkhead 1
4 Avionics Sled 3d Printed Avionics Sled 1
5 Raven 4 v9 Featherweight Flight Computer 2
6 GPS Tracker v15 Featherweight GPS 1
7 92001A321 18-8 Stainless Steel Wing Nut 8
8 90322A657 High-STrengtr&gtgel Threaded 4
9 Switch Band Carbon Switch Band 1
Steel Eyebolt with Shoulder - for
10 30147954 Liffing 1
High-Strength Steel Nylon-Insert
11 97135A230 Locknut 1
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN AP 11/22/24
TOLERANCES: CHECKED TITLE:

FRACTIONAL%
ANGULAR: MACH%  BEND %

ENG APPR.

TWO PLACE DECIMAL

THREE PLACE DECIMAL %

INTERPRET GEOMETRIC

MFG APPR.

QA.

TOLERANCING PER:
MATERIAL

COMMENTS:

Combination

FINISH

USED ON

APPLICATION

2

None

DO NOT SCALE DRAWING

Avionics Bay
Second Stage

SIZE DWG. NO.
23

SCALE: 1:8 WEIGHT:

1

REV

SHEET 1 OF 1




12 11 10 9 8 7 6 5 4 3 2 1

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 Booster Avionics Bay 1
2 Avionics Bulkhead 1
3 BottomPlateRevision7 1
4 InnerTubeBottomPlate 1
Revision7
5 B18.3.1M-6x1.0x 120 4
Hex SHCS -- 24NHX
6 AM-M6-N 4
Steel Eyebolt with Shoulder - for
7 30147954 Lifting 1
8 ASME B18.16.6-FLNG- 1
0.313-18-N
9 Avionics Sled Booster 3d Printed Avionics Sled 1
O— |
1
=
o Seperation System
s Coupler
an NATERA ETs 24 "
12 11 10 9 8 7 6 5 4 3 2 1

SOLIDWORKS Educational Product. For Instructional Use Only.

>



4.97

25.99

33.40

Job o6

®6.05

8 / 6

SOLIDWORKS Educational Product. For Instructional Use Only.

4 3 2 1
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 NC_cone 1
2 NC_coupler 1
3 NC_bulkhead 1
4 eyebolt-type2_ai 1
5 NC_metaltip 1
6 NC_mtwasher 1
M4 Button Head Hex Drive
7 92095A196 Screw 1
M8 Button Head Hex Drive
8 92095A284 Screw 2
High-Strength Steel Nylon-Insert
9 94645A210 Locknut 2
e Nose Cone
Assembly
4 3 2 1

A3



FRONT

P4.396

BOTTOM

BACK g 8
6 g A
° - T]o.01
o} > $5.830
\ @] p0.01]A]e
[Slooi]a]e] .~\
/\‘ -4 goé:(‘)‘wvi B
B4.396 .
[¢]g0.002] A[e]
o
@ 4.500 J
[¢]#0.002] Ae]
MATERIAL: ALUMINUM 6061-Té o R s
NOTE:
e BOTTOM CUT FILLETS R =0.125 IN T I S — OUTER BOTTOM
e TOP SLOTTED FILLETSR =0.1 IN PLATE
16 15 14 13 12 11 10 9 8 7 3 5 4 — — o

SOLIDWORKS Educational Product. For Instructional Use Only.



BOTTOM
$4.40
[¢]p002][A[B
3
<
[3]0.003
[F]0.02
8
450 !
4| #0.003|A[B
FRONT
@4.40 D415
BACK 20 ATe] R i
@ 1.50

+x[r200]

4x $ 025V 1.39

[#]g001[A]8]

MATERIAL : ALUMINUM 6061-Té
NOTE: B

e PATTERN CUTOUT FILLETS R = 0.1 IN

e PATTERN CUTOUTS DEPTH = 0.25 IN

INNER TUBE

BOTTOM PLATE

F— 27 2

164 1 15 1 14 1 13 1 12 1 11 1 10 1 9 1 8 1 1 b 1 5 1 1 3 : 1 1

SOLIDWORKS Educational Product. For Instructional Use Only.




BOTTOM

o (R » G (0 )

6X1.25

I [l o]

5.99
] 20.02] A8

@617
ﬁ $0.02|A|B

6x @ 0.35 THRU
(o) 7

L1 @063V 0.
[#]002]A]g]

D617

36
[#2002]A]s]

@4.40

OOOOOO

MATERIAL: ALUMINUM 6061-T6 TOP PLATE
NOTES: =
* ALLFILLETSR=0.IN an g TweNo. !
erte aumuny 28 A
16 15 14 13 12 11 10 9 8 7 4 5 4 3 2 1

SOLIDWORKS Educational Product. For Instructional Use Only.



